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bing ren
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patient







yT yuan
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SO T

hospital



kan bing
E IR
to see a doctor;

(of a doctor) to
see a patient




Hd;t ZI

belly;abdomen —



teng si

AL

really painful




teng

aching



at night




hao |i

%7, quite
uteatew & TOW



ce Ssuo
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restroom,toilt




bing xiang
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refrigerator




fa shao

A5

to have a fever




tang xia

BT gm

to lie down




tang
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to lie




jlan cha
rE

to examine




ch1 huali

iz 1A

to get sick because of
bad food







da zhén

FIET

to get an injection




zhén

%-‘- 2% .,

needle



yao
=
29

medicine

“To take medicine” is Iz Z5(chT yao), literally “to eat medicine.” A
more formal expression is Ak%5(fu yao), which is commonly
written on prescriptions and prescription instructions.



pian

(measure word for tablet; slice)




1. ZMIBIR X o
du liang bian kewen.

pian Read the text twice.
A r e B — — v
JE 2 XEBERET =R
zhe bu dianying wo kanle san bian.

| watched this movie three times.

(measure word for complete courses
of an action or instances of an action)



ZUul hao

Eaj !Z} had better

had better



Xlao shi

N

hour




v
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method; way/(of
doing something)
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to die;(a complement
indicating an extreme
degree)




1.5E(si) Indicating an Extreme Degree

Placed after an adjective, Jt(si) can serve as a complement to indicate an extreme
degree of the condition named by the adjective.

Adj+35t+ 1 :Extreme Degree

1.$T5T&3E T, (It's extremely painful to get a shot.)
da zhén téng si le.




1.5E(si) Indicating an Extreme Degree

Placed after an adjective, Jt(si) can serve as a complement to indicate an extreme
degree of the condition named by the adjective.

2.3 M T, (I'm starving.)
wo e si le.




1.5E(si) Indicating an Extreme Degree

Placed after an adjective, Jt(si) can serve as a complement to indicate an extreme
degree of the condition named by the adjective.

2. 3B 7o (|am thirsty)
wo keé si le.




1.5E(si) Indicating an Extreme Degree

Placed after an adjective, Jt(si) can serve as a complement to indicate an extreme
degree of the condition named by the adjective.

3. 5K T, (It's awfully hot today.)
jin tian re si le.




1.5E(si) Indicating an Extreme Degree

Placed after an adjective, Jt(si) can serve as a complement to indicate an extreme
degree of the condition named by the adjective.

3.5 KRBT (It's awfully cold today.)
jin tian leng si le.




1.5E(si) Indicating an Extreme Degree

St (si) often follows an adjective with a pejorative meaning and therefore the
combination carries a negative connotation, as shown in the examples above.
Occasionally, however, it may also be used in a positive context.

pejorative adj +3t+ 1 ( often )
4HAETXHE , ENXET

zht dao le zhe jian shi, ta gao xing si le.
He was tickled pink when he learned about this.




1.5E(si) Indicating an Extreme Degree

Most complimentary adjectives cannot be followed by %E(si). People therefore
seldom say:

5. IKIRZERIET o (X)

na jian y1 fu piao Ilang si le.

6.fERM LR IFIET o (X)

td gén ta nu péng you hao si le.



2.Times of Actions

JX(ci) is the measure word most frequently used to indicate that an action is
performed a certain number of times. The “number+;X(ci)” combination follows the
verb. ( Verb+ 7 +number+x )

1. EF T 7T RIREBIE,
shang wu wo da le liang ci dian hua.
| made two phone calls in the morning.




2.Times of Actions

JX(ci) is the measure word most frequently used to indicate that an action is
performed a certain number of times. The “number+;X(ci)” combination follows the
verb. ( Verb+ 7 +number+x )

2. EREIZ T =IX#4,
ZUuo tian wo chrt le san ci yao.
| took the medicine three times yesterday.




2.Times of Actions

If the object is not a person or a place, JX(ci) should be placed between the verb
and the object. If the object represents a person or a place, JX(ci) can go either
between the verb and the object or after the object.

Verb+ 7 +number+)X+object(not a person or a place)

Verb+ 1 +number+;X+object(a person or a place)
Verb+ 1 +object(a person or a place)+number+X



2. Times of Actions

If the object is not a person or a place, JX(ci) should be placed between the verb
and the object. If the object represents a person or a place, JX(ci) can go either
between the verb and the object or after the object.

3.A: EFEET —XFE, fRIE?
gqu nian wo qu le yi ci zhdong guo. nine ?
Last year | went to China once. How about you?

B: ZFRETRFEMIX,
qu nian wo qu le zhdng guo liang ci.
Last year | went to China twice.




2. Times of Actions

If the object is not a person or a place, X(ci) should be placed between the verb
and the object. If the object represents a person or a place, X (ci) can go either
between the verb and the object or after the object.

4. A FERBIRT=XREEHE,
ZUuo tian wo zhao le san ci wang yi shéng.
| went looking for Dr. Wang three times yesterday.

B: 2% ? EXEBIK T EEE=IR,
shi ma “? zuo tian wo ye zhao le wang y1 shéng san cil.
Is that right ? | also went looking for Dr. Wang three times yesterday.




2.Times of Actions

If the object is a personal pronoun, however, JX(ci) must follow the object.

5. REERIX T AR , &R TE,
woO zuo tian zhao le ta liang ci, ta dou bu zai.
Yesterday | went looking for him twice, but he was not in either time.




2.Times of Actions

Verb+ 1 +number+;X+object(not a person or a place)

Verb+ 1 +number+;X+object(a person or a place)
Verb+ 1 +object(a person or a place)+number+X

Verb+ 1 +object(a personal pronoun)+number+;X



2. Times of Actions

I8 (bian) is another measure word for occurrences of actions, but it pertains to the
entire course of the action from the beginning to the end.

6. i%1ﬂ(:§:_ﬁi%jzo
ging ni nian yi bian ke wen.
Please read the text [from the beginning to the end] once.



2.Times of Actions

Nouns denoting body parts involved in the actions can also sometimes serve as
measure words for occurrences of actions. ( uncommon )

HEXREE Lz 7JL0...

Zuo tian wan shang wo cht le ji kou ...
| ate a few mouthfuls last night...



3.1 3K (qi lai)

&2 3K (qi lai) indicates the moment when something static becomes dynamic, that is,
it signifies the beginning of an action or state.

1. BN — N EE 7 X,
wO men yi jian mian jiu liao le qi lai.
We began chatting as soon as we met.

2. ft—EIxRMEEFE K
ta yi hui jia jiu xie qi xin lai.
He began to write a letter as soon as he got home.




3.1 3K (qi lai)

&2 3K (qi lai) indicates the moment when something static becomes dynamic, that is,
it signifies the beginning of an action or state.

3. T TRELG , FENFT IR,
xia le ke yi hou, xué sheng men da qi qiu lai.
The students started to play ball after the class was over.

Note that the object is placed between #2(qi) and 3K(lai), rather than
after #23&(qi lai).Verb+i2 +object+3

FTEKEESR (X)) FTHBRKR (V)



4 32(ba) Construction(l)

In general, a sentence in the #£(ba) construction highlights the subject’s disposal
of or impact upon the object, with the result of the disposal or impact indicated by
the element following the verb.

Subject + #(ba) + Object + Verb + Other Element (Complement/ T [le], etc)

1. RIEBARENHHRR T,
wO ba ni yao de shi zhao le.
| have found the books that you wanted.
[ The resultative complement Zl/(dao) serves as the “other element.”]

In (1), the subject Fexerts an impact on the book through the action of #%
(zhao), of which £l(dao) is the result.



4 32(ba) Constr

uction(l)

In general, a sentence in the #£(ba) construction highlights the subject’s disposal
of or impact upon the object, with the result of the disposal or impact indicated by
the element following the verb.

Subject + 1#E(ba) +

2 RN FEA
ni ba zhe ge z
You wrote this

Object + Verb + Other Element (Complement/ 1 [le], etc)
e 1 o

1 Xié cuo le.

character incorrectly.

[ The resultative complement %5 (cuo) serves as the “other element.”

In (2), the subject ¥R exerts an impact on the character through the action of &
(xi€), of which £&(cu0) is the result.




4 32(ba) Construction(l)
Subject + #(ba) + Object + Verb + Other Element (Complement/ 7 [le], etc)

3. EHARE TR
ging ba na tiao ku zi gei wo .
Please pass me that pair of pants.
[The indirect object ¥ serves as the “other element.”]

AREXRBIREE.
ni ba zhe pian ke wen kan kan.
Would you take a look at this text?
[The reduplicated verb & serves as the “other element.”]



4 32(ba) Construction(l)
Subject + #(ba) + Object + Verb + Other Element (Complement/ 7 [le], etc)

5B XHHIYES T !
ba zhe béi ka féi hé le !
Finish up this cup of coffee!
[The particle 1 (le) serves as the “other element.”]

6.IMREALZIARNERRT ?
ni z&n me b& nu péng you de shéng ri wang le ?
How did you manage to forget your girlfriend s birthday?
[The particle 1 (le) serves as the “other element.”]



4 32(ba) Construction(l)
Subject + #(ba) + Object + Verb + Other Element (Complement/ 7 [le], etc)

In the #8(ba) construction, the object is often something already known
to both the speaker and the listener. For example, {RE/ $(ni yao de
sha) in (1), X1NF(zhé ge zi) in (2), 8 #EF(na tido ku zi) in (3), and
Z AR MY 4 B (nU péng you de shéng ri) in (6) are all things that are
already known.




4 32(ba) Construction(l)

7. BELT /MK — L4k,
lao wang gei le xiao zhang yi xié gian.
Old Wang gave Little Zhang some money.

8.ZEHEREA/PIK T,
lao wang ba qian gei xiao zhang le.
Old Wang gave the money to Little Zhang.

The object in (7) ,"some money,” is unspecified. However, in (8), the speaker
expects the listener to know what money is being referred to.



4 32(ba) Construction(l)

7. BELT /MK — L4k,
lao wang gei le xiao zhang yi xié gian.
Old Wang gave Little Zhang some money.

8.ZEHEREA/PIK T,
lao wang ba qian gei xiao zhang le.
Old Wang gave the money to Little Zhang.

The object in (7) ,"some money,” is unspecified. However, in (8), the speaker
expects the listener to know what money is being referred to.



4 32(ba) Construction(l)

( 1) If the subject of a sentence is given

( 2 ) the object is something known to both the speaker and listener.
( 3 ) the verb is followed by a complement in the form of a
prepositional phrase with 7£ or %l(dao)

If the condition (1). (2). (3) is met
that sentence must appear in the #8(ba) construction.



4 32(ba) Construction(l)

RIBERERF L,
ni ba bi fang zai zhuo zi shang.
Put the pen on the desk.

RBEER T L,

ni fang bi zai zhuo zi shang




4 32(ba) Construction(l)

BREXHERH@TN N AT,
ging ni ba zhe féng xin song dao lu shi de ban gong shi.
Please deliver this letter to the attorney s office.

EREXEERTNANE.
ging ni song zhe féng xin dao lu shi de ban gong shi.



1.A combination of two adjacent numbers can be used to denote an
approximate number, e,g., 175, £ % (wu shi liu, gT sui, fifty-six
or fifty-seven years old), T/\, JL3REk(shi b3, jit kuai gian,
eighteen or nineteen dollars), =. PY>X(san, si tian, three or four
days), . =®Z£(lidng, san zht bi , two or three pens). However,
the numbers nine and ten cannot be used this way since it could
lead to ambiguity; It would be difficult to distinguish Ju, + X(jit, shi
tian) from J1+ X (jit shi tian) in speech.

2.81(qian, before) in IR A (fan gian, before meals) and /& (hou,after)
in 1R & (fan hou; after meals) are the shortened forms of LABI(yi
gian, before) and ELf5(yi hou, after) respectively.




to have a cold




shéng bing
£IR

to get sick




shén fi A
i

body;health
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guo min
\
yOE:

to be allergic to




yao dian

SIS

pharmacy




jlan kang

(E4=3

healthy;health




bao xian

CIR S
Insurance S‘\




gan kuai

TR

right away; quickly ;
In a hurry




yao bu rén

AR

otherwise

other



shang ci

R

last time




8

to take a break; to rest




lan

lazy




zal shuo

\N\/
E moreover

moreover



luan

AL




1. XN FRRELIER
zhé ge shuzi shi wo luan xuan de.
| chose this number randomly.

2. X EETREL .
zhe ge fangjian hen luan.
This room Is messy.




yue lai yue

f@;l%@ MORE & MORE

more and more



5. The Preposition X¥(dui)

The preposition XJ(dui) introduces the person or thing that receives a certain
effect from someone or something else. Its English translation varise
depending on the context.

1. XMANBEREA.
zhé zhong yao dui gan mao hen you yong.

This medicine is very effective for colds.

2. iy RN SRS R B RE Ao
ta de dian nao dui ta lian xi fa yin hén you yong.
His computer is very useful for his pronunciation practice.

3. R—EXNHAKAEIHT .
ni yi ding dui shéen me dong xi guo min le.
You must be allergic to something.



6. B, .. (yue 1ai yue...)
The structure #RHE...(yué lai yué...) denotes a progressive change over time.

1. ZERRY P GBRBLT
Il you de zhong wen yue lai yue hao.
Li You's Chinese is getting better and better.

2. RFRHERBRFAT
tian qi yue lai yue nuan huo le.
The weather is becoming warmer and warmer.

3. FR/IAE A Z 15K EE R
biao jie kao shi kao de yue lai yue zao gao.
My cousin is doing worse and worse on her exams.



7. Bk (zai shud)

— NN

The expression 1% (zai shud) introduces an additional reason for
an action that has been taken or decision that has been made. It is
different from B +1i%(zai shuo, to say again.)

TARAT AR ELLY ?
ni wei shén me bu qu nit yué ?
Why aren't you going to New York?

B:ZE )X BHEIE , Bi% , B
WO mél you shi jian, zal shud, yé mei you qgian.
| don't have the time, and besides, | don't have the money.




7. B (zai shuo)

——

The expression Hi%(zai shud) introduces an additional reason for
an action that has been taken or decision that has been made. ltis
different from & +1%(zai shuo, to say again.)

Zﬁxgiﬁ%fﬁtﬂ’ﬂ,-ﬁ‘ , %%Z;ﬂ.jr : _E__'LH,A-H_J,j(/J\
woO bu xi huan jin tian wan shang de wu hul, yin yue bu hao, zal
shuo ren ye tai shao.




7. Bk (zai shud)
Like 8 1% (zai shud) , i B (ér qié, moreover; in addition) also conveys

the idea of * furthermore,additionally,” ect., but the clause that
follows it may or may not be explanatory in nature.

B.ARRNMATARELAL ?

ni wei shén me bu qu nit yué ?

Why aren't you going to New York?

B:
WO mei you shi jian, ér gie, yé méil you gian.

xxBRE , MA , &F,

| don't have the time. Besides, | don't have the money.



7. Bk (zai shud)

4. X2EXRE  AERENEIN , MEEERENAR.

zhe shi wang xian sheng, ta bu dan shi wo de lao shi, er gie ye
shi wo de péng you.

This is Mr. Wang. He is not only my teacher but also my friend.

4da. XrERE A ERRNEM , BHEEERNAR, (X)
zhe shi wang xian sheng, ta bu dan shi wo de lao shi, zai shuo
ye shi wo de peng you.




1.The two phrases &E 4 (kan yi shéng) and & & (kan bing)
are interchangeable, although in northern China &J&(kan
bing) is much more common than & E4 (kan y1 shéng).

2. When tasting or trying the flavor of a food or drink, one
says == (wod chang chang, Let me taste it) instead of ¥
1317 (wd shi shi, Let me try), although one says i1z (shi shi)
when trying most other things.



